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Discussion 1 (Introduction, Rehoboam Pt 1)

Why did Rehoboam fail? What should he have done and what character trait is critical to
success? ¥ & AT RIK? HH T My, b MEAT 43 B A A 4 442 [4 min]

Why did Rehoboam later succeed? % & it )& A 4T m*1? [4 min]

Using the principles found in the answer to question one, depending on your group age,
discuss one of the following cases and present your answer. #1% B % — 20 3k 369 &
£, WU TESFARNGAE, Hitie B 2 AR EE[15 min-discussion; divide
into 2 groups and give a 3 min presentation].

a. For grandparents , parents and students: Xiao Hua, a primary 5 student has not
finished 12 Math problems and it takes 1 hour to complete the homework. He needs
to sleep by 10pm. It is now 8:45pm. His favourite TV program starts at 9pm and
ends at 10pm. Critique the following 2 solutions: @ The grandparent/parent says:
“Finish your homework first and I’ll let you watch.” @ The child says: “I’ll do my
homework till 9pm, In between advertisements, I’ll do my homework. 1I’ll sleep late
tonight to complete my homework. It will not be too late because | am sure | can
finish half of it before 10pm.” Suggest a third solution that is a “win-win” situation
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b. For working adults: You belong to a busy department where everyone feels that he or
she is overworked. But you are quite sure that, for whatever reasons, your superior is
giving you more work than the others. Critique the following two solutions. @ You
can tell your department head: “I have been working till 9pm almost every day and |
still cannot complete my work. Can you ask someone else to help me? @ You just
quietly continue to labour on which is affecting your emotionally and taking time
away from your family. Suggest a third solution that is a “win-win” situation.
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